






B0=63 nT, φ = 118.8o, θ = 2.1o, p = 0.00Rc, H = -1

0.39 AU



B0=32.8 nT, φ = 108.5o, θ = 12.6o, p = 0.31Rc, H = -1

0.85 AU



B0=13.4 nT, φ = 105.4o, θ = 56.6o, p = 0.28Rc, H = -1

1.0 AU



130 samples





<B0>=(18.8±1.4) rh
-1.30±0.09 <B0>=(18.1±3.8) rh

-1.64±0.04

<D>=(0.20±0.02) rh
0.61±0.09 <D>=(0.23±0.05)rh

1.14±0.44



<np>.=6.63 rh
-2.62

<np>=7.24 rh
-2.44

<Tp>=2.85 x 104 rh
-1.59

<Tp >= 3.18 x 104rh
-1.22









<QI> = 0.11 rh
-0.68

<QI> = 0.08 rh
-0.31

Contrast: solar wind (1976):

QI = 0.02 rh
-1.14 (Helios1)



Approach 2: Spacecraft Lineups



Observer x

Observer x+1

Approach 3: Freely expanding Lundquist Tube

Bax = (B0/τ2)J0(αr/τ)

Bφ = (B0/τ)J1(αr/τ)

τ = (t+to)/to to: time from expulsion to
start of observations at rh



Bmax ∝ rh
-2

Rc α rh
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